03089_AP MR FHNEHYUERE , HER B LIBF MBLHH

7= miiEA

ME

P HIFAE
HERELEAE -
BUEFNEENHE R B EHIN.

TN
HEMHELELE
IR ERMAEENS 1.4305,

RIREHREH BN ERXIEF,
B &R RIRA .

A
M :
TEALEL, ANBEELE,

TEBW :
T ARZBELAE | A RECLE,

B

PEHEATHIEEQASBYENEER. REAFFMEKREET8E
BHIFNYENE, MREREZE4ZERBRSEKIE HiE %R
4458[E | WEMA CP &,

B ROSNLZERERRRENSUEHEER , R EERM
85

BASIERERE , 2R (BA ) RE,

RIFEXR :
BRER,

R4 -

&) FEER 03089,
HEERAH

AT EEIH 03094-10,

© norelem www.norelem.com



03089_AP AR FFMEHYERE | %8R B LIBF MIBLH

SW1

L2'=-—

. | !
™ |
~J
[ -0.02
-0,04
03089-95903 03089-195903 AP | 3 M6x0,75 14 255 |6 5|35 8 0,8 4 10
03089-95004 03089-195004 AP | 4 M8x1 18 295 |6 6| 4 10 1 4 12
03089-95105 03089-195105 AP | 5 M10x1 21 345 |8 7| 5 13 1,3 5 12
03089-95206 03089-195206 AP | 6 M12x1,5 25 417 |10 8 | 6 14 1,8 6 14
03089-95308 03089-195308 AP | 8 M16x1,5 33 54 |12 10| 8 19 23 14 28
03089-95410 03089-195410 AP |10 M20x1,5 33 61 |15 12| 10 22 2,8 15 32

© norelem www.norelem.com



